Factoring Lesson MPM2DU Mr. Singh

Find the GCF of:

a) 6x—3x*+18 GCF =33

b) 23’ +33°+4a’ +a GCF =0\

¢) 15b—30b® +10b° GCF=5 KR
d) 14c’+21c®-35¢° GCF= 7¢*
e} 16d%* —20e°d* +8de° GCF = et
f) 8x*yz—6xy’ +10x’y’z" GCF =Qq<ﬁ.

Common Factor

a) 12k - 36m b} 9x%y - 3x3y? - Bx%y
— lg\(K“B’*‘) =3x*y (3 —?(vﬂ;l-xz)
C) 6x?-9x - 12 d) 8x?%y - 24xy + 12y
:3(;)«:’-37(—4) = Yy (2 ~x 43 )
e) 4a’+ 6ab + 12abc f) 6x2y - 4xy - 2y
= ;10\(90\43L=4 E)LC) :&8{?}’){27}){ — | )
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Binomial Common Factors

binomial common factor

4(w+ﬂv\+ 1) 4(@ )"‘5‘{(@ )

) @ ()

Ex. 1: Factor
a)2y(a-1)-3x(a-1) b) 4a(x - y) - 3b(-y + x)
= (@=1)(2y2) = Halzyd-36 054

=( w—gY%-Eb}

Factor by Grouping

¢ group terms that have a common factor

w factor each group to try and get a binomial common factor
ac + bc + ad + bd zactad + bt b4
= c(a+b)+d(a+h) = A(C+A) +olc+a
={a+b)(c+d) = (c+d)(aar b)

Ex. 2 Factor by Grouping

a)xy+12 + 4x + 3y b) 5m?t-10m?+t2-2t

= X+ s 3g+12 =Smt(£-2)+L (-2
Sl 3(ge) At
= (13_4- "0(')(4- 35
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